BRI x HE

A
1o
= =11 —e¢e
v ¢ XP
. = o0 IR
[ JEU(:,J:E
§
F — C_'“:—RTdfnC: il ac
dr dx c dzx
F
f—NA
jode__fl de  pde

£ Na&dr gy de




3

¢ " N N EE N EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEN

.

HIs B

e ™ E E EEEEEEEEEEEEEEEEEEEg
. . e m E E E EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE,
*

e" RN E NN EEE RN,
" EEEEEEEEE

.

.
® m @ EEEEEEEEEEEE SN EE®

sEEEEEEEEE s,
o m wwwwwwwwwwwwwwn?®

.
.
.

.

9 " 5 N EEEEESEESEEESEESEEEEEEEEEEESEEEESEEEEEEEEESEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE,
*

W EEEEEEEEEE NN,
A e s s s s E

.
.
.

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll‘

WE S 5 S EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE W,

® m m mEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEESEEESEEEEEEEESESEEESEEESEEEEEEEEEEEEEESEEESEEEEEESEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEESEEEEEEEESEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEwEwEwwwwn?®

.

4 5w mEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEES

.



3

¢ " N N EE N EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEN

.

HIs B

‘ ¢ ™ N N N EEEEESESESESESEEESEEESESEEESEEEEEEESEEEEEEEEEEEEEESEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE,
3 .

sEEEEEEEEE s,
A s s s s s s EE o ®

.
.
.

.

9 " 5 N EEEEESEESEEESEESEEEEEEEEEEESEEEESEEEEEEEEESEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE,
*

W EEEEEEEEEE NN,
A e s s s s E

.
.
.

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll‘

WE S 5 S EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE W,

® m m mEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEESEEESEEEEEEEESESEEESEEESEEEEEEEEEEEEEESEEESEEEEEESEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEESEEEEEEEESEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEwEwEwwwwn?®

.

.



-------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------



----------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------



His B

J(z.t) = —D Oc(z,t)

Fick®D % — ;%8

J: T (flux) [mol m2s]

D : ILEXTE £%(diffusion constant) [mol m2 s-! mol-! m3 m]

= [ m2 S-I]
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J(x + dx,t)

(Sdx) = |J(z,t) — J(x + dx,t)]S
? =dV flux in flux out
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J(x + dx,t)

A

5’0?;75) (de) _ [J(z)t) — J(az -+ da’;,t)]s
LY~ "~ ———

=dV flux in flux out
0J
J dr,t) = J(x,t) 1 d
(@ + da, 1) = J (2, ) + 5d
Oc(z,t)
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J(x + dx,t)
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=dV flux 1in flux out
J(x + dw.t) = J(x.1) - gi da
J(z,t) = —Dﬁcg;; ') |
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Oc(x,t) D 0%c(x,t)

ot 012
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Oc(xz,t) D 0%c(x,t)
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Oc(xz,t) D 0%c(x,t)

o Ox?
Fle(z,t)] = c(k,t) = %/ c(xz,t)e” " dx
f[ac(;; t)] _ D]__[O g,i? t)]
Oc(k,t)
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Oc(xz,t) 0%c(x,t)
ot Y Ox?
Fle(x, t)] = c(k, t) = % /OO c(xz,t)e” " dx
20Dy prlent)
0k _  pr2e(k.

ot
c(k,t) = c(k,0) exp(—DEk*t)
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1 0
c(k,0) = %/ c(z,0)e” " dy
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_ C_O > —i1kx _ C_O —tk0 __ C_O
c(k,0) = . /_OO O(x)e ""“dx 5 € 5
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1 OO —i1kx
= — x, 0 dx
(0 =5 [ ela0)
c(x,0) = cod(x)
~ —i1kx €0 —tk0 __
c(k,0) = ;—;/_ O(x)e ""dr = 5 €

Co

c(k,t) = o exp(—DEk*t)
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c(xz,t) = F e(k, t)]

0 £V exp(—Dtk?)]
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